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Biên soạn bởi cô Nguyễn Quỳnh Trang 

Đề 42 
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined sound that is 

pronounced differently from the rest or the word that differs from the rest in the position 

of the main stress: 

Question 1: A. malari        B. eradicate C. character D. spectacular 

Question 2: A. blamed  B. dissolved  C. misused   D. increased  

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from 

the rest in the position of the main stress in each of the following question.  

Question 3: A. furnish   B. reason   C. promise   D. tonight   

Question 4: A. habitable  B.infamously  C. geneticist  D. communist  

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each 

of the following question.  

Question 5: I gave the waiter a $50 note and waited for my .  

A.change   B. supply   C. cash   D. cost 

Question 6: People can become very __ when they are stuck in traffic for a long time.  

A. nervous   B. bad-tempered   C. stressful   D. pressed  

Question 7:1 believe that judges should be independent the government.  

A. to   B. from   C. with   D. on  

Question 8: The MP asked ___ the prime minister was aware of the growing social problem.  

A. that   B. him   C. if   D. What  

Question 9: Although David was _ household chores.  

A. Exhaustion   B. exhausted   C. exhausting   D. exhaustive  

Question 10: I think there's a picture of the hotel ________ the first page.  

A. on   B. at   C. in   D. to  
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Question 11: I would like to ________ Mr Pukuyama to present the trophy to the victorious 

team. 

A. call over   B. call out   C. call upon   D. call up 

Question 12: My neighbor is ________; he is always showing that he never cares about his 

bad behavior. 

A. grim-faced   B. faceless   C. face-saving   D. barefaced 

Question 13: The teacher doled _________ the chocolates to his students for having done 

well in the examinations. 

A. off   B. on   C. out   D. away 

Question 14: He kept his marriage a secret for years, but eventually the truth _______ . 

A. came out   B. came through   C. went out   D. turned out 

Question 15: “ I call _______ you at 6 o’clock “, said James. 

A. by   B. up   C. for   D. in 

Question 16: Many a leader ________ fallen due to pride. 

A. is   B. are   C. has   D. have 

Question 17:  If you want a good flat in Lodon, you have to pay through the _______ for it. 

A. month   B. car   C. nose   D. teeth 

Question 18: Employees who have a ________ are encouraged to discuss it with the 

management. 

A. hindrance   B. disturbance   C. disadvantage   D. grievance 

Question 19: William was as _______ as a cucumber when the harsh punishment was meted 

out to him by the judge. 

A. cool   B. cold   C. placid   D. impassive 

Question 20: ________ of the financial crisis, all they could do was hold on and hope that 

things would improve. 

A. At the bottom   B. At the height   C. On the top   D. In the end 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that 

needs correction.  

 

Question 21: Transplanting organs such hearts and kidneys had proved easier than 

A          B         C  
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 transplanting muscles. 

      D 

Question 22: On the floor of the Pacific Ocean is hundreds of flat-tipped mountains more  

    A                                                      B           C 

than a mile beneath sea level.  

              D  

Question 23: Justice is often personified as a blind folded woman to hold a pair of scales  

              A                        B                         C                D  
Read the following passage and mark the letter A, B, C, or D to indicate the best option for 

each of the blanks. 

The Industrial Revolution in Britain was built on the use of machines in factories. Since 

the 1950s, Britain's (24)......industries have replaced machine operators with computers, and 

this (25)......has led to a decline in the number of (26).......in many factories. Goods are bought 

and used much more than ever before but a lot of these goods are imported. By the beginning 

of the 20th century, other industrial countries like the USA were (27).......with Britain's 

exports, and countries in the Far East have been able to provide cheaper (28)......since the 

1970s. Areas located with heavy industries are suffering high unemployment. During the last 

30 years, there has been a constant rise in smaller industries (29).........as "light industries". 

These ones use electricity and are not (30) .........on raw materials such as coal so they are 

"footloose", i.e. they can be located anywhere. They produce such things as washing 

machines or spare (31) .......... Some of these industries produce nothing at all, but provide 

services like distribution. The consumer boom of the 1980s and the increased leisure time of 

most Britons have led to rapid (32) ........ in service industries like banking, tourism, retailing 

and information processing, and in industries which distribute, maintain, and repair 

(33).........consumer goods. 

Question 24: A. manufacturing  B. big  C. large   D. running 

Question 25: A. replacement B. change   C. exchange   D.automation 

Question 26: A. employers  B. employees    C. labors    D. servers 

Question 27: A. working  B. familiar   C. competing   D. fed up 

Question 28: A. things   B. products   C. produce    D. imports 

Question 29: A. considered  B. regarded   C. known    D. worked 

Question 30: A. dependent  B. reliable   C. dependable   D. command 

Question 31: A. details   B. parts   C. sections    D. gadgets 

Question 32: A. growth   B. increase   C. expansion   D. extension 
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Question 33: A. everyday   B. home          C. household      D. expensive 

Read the passage and mark the letter A, B, C or D to indicate the correct answer to  each 

of the questions 

 In the world today, particular in the two most industrialized areas, North America and 

Europe, recycling is the big news. People are talking about it, practicing it, and discovering 

new ways to be sensitive to the environment. Recycling means finding ways to used products 

a second time. The motto of the recycling movement is “Reduce, Reuse, Recycle”. 

 The first step is to reduce garbage. In stores, a shopper has to buy products in blister 

packs, boxes and expensive plastic wrappings. A hamburger from a fast food restaurant 

comes in lots of packaging: usually paper, a box and a bag. All that packaging is wasted 

resources. People should try to buy things that are wrapped simply, and to reuse cups and 

utensils. Another way to reduce waste is to buy high-quality products. When low-quality 

appliances break, many customers throw them away and buy new ones – a loss of more 

resources and more energy. For example, if a customer buys a high-quality appliance that can 

be easily repaired, the manufacturer receives an important message. In the same way, if a 

customer chooses a product with less packaging, that customer sends an important message 

to the manufacturers. To reduce garbage, the throw-away must stop. 

 The second step is to reuse. It is better to buy juices and soft drinks in returnable bottles. 

After customers empty the bottles, they return them to the stores. The manufacturers of the 

drinks collect bottles, wash them, and then fill them again. The energy that is necessary to 

make new bottles is saved. In some parts of the world, returning bottles for money is a 

common practice. In those places, the garbage dumps have relatively little glass and plastic 

from throw-away bottles. 

 The third step being environmentally sensitive is to recycle. Spent motor oil can be 

cleaned and used again. Aluminum cans are expensive to make. It takes the same amount 

energy to make one aluminum can as it does to run a color TV set for three hours. When 

people collect and recycle aluminum (for new cans), they help save one of the world’s 

precious resources. 

Question 34: Which area is considered one of the most industrialized? 

A. South America B. Middle East C. Europe D. Asia 

Question 35: What does the word “sensitive” in line 2 means? 

A. cautious B. logical C. friendly             D. responding 

Question 36: The word “motto” is closest in meaning to ________ 

A. meaning B. value C. belief D. reference 

Question 37: It is a waste when customers buy low-quality products because 

______________________ 

A. they have to be repaired many times.  B. they will soon throw them away 

C. customers always change their idea    D. they are very cheap.  . 

Question 38: What is the topic of the passage? 
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A. How to live sensitively to the environment. 

B. How to reduce garbage disposal. 

C. What is involved in the recycling movement. 

D. What people understand the term “recycle” 

Question 39: People can do the following to reduce waste EXCEPT _____________ 

A. buy high-quality products   B. buy simply-wrapped things 

C. reuse cups    D. buy more hamburgers 

Question 40: What best describe the process of reuse? 

A. The bottles are collected, washed, returned and filled again. 

B. The bottles are washed, returned filled again and collected. 

C. The bottles are filled again after being returned, collected and washed. 

D. The bottles are collected, returned, filled again and washed 

Read the following passage and mark the letter A, B, c or D on your answer sheet to indicate 

the correct word for each of the blanks.  

Basic to any understanding of Canada in the 20 years after the Second World War is 

the country‘s impressive population growth. For every three Canadians in 1945, there were 

over five in 1966. In September 1966 Canada‘s population passed the 20 million mark. Most 

of this surging growth came from natural increase. The depression of the 1930s and the war 

had held back marriages, and the catching-up process began after 1945. The baby boom 

continued through the decade of the 1950s, producing a population increase of nearly fifteen 

percent in the five years from 1951 to 1956 This rate of increase had been exceeded only once 

before in Canada‘s history, in the decade before 1911 when the prairies were being settled. 

Undoubtedly, the good economic conditions of the 1950s supported a growth in the 

population, but the expansion also derived from a trend toward earlier marriages and an 

increase in the average size of families. In 1957 the Canadian birth rate stood at 28 per 

thousand, one of the highest in the worlk  

After the peak year of 1957, the birth rate in Canada began to decline. Itcontinued 

falling until in 1966 it stood at the lowest level in 25 years. Partly this decline reflected the 

low level of births during the depression and the war, but it was also caused by changes in 

Canadian society. Young people were staying at school longer more women were working; 

young married couples were buying automobiles or houses before starting families; rising 

living standards were cutting down the size of families It appeared that Canada was once 

more falling in step with the trend toward smaller families that had occurred all through the 

Western world since the time of the Industrial Revolution.  

Although the growth in Canada‘s population had slowed down by 1966 (the increase 

in the first half of the 1960s was only nine percent) another large population wave was coming 

over the horizon. It would be composed of the children who were born during the period of 

the high birth rate prior to 1957.  
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Question 41: What does the passage mainly discuss?  

A. Educational changes in Canadian society  B. Canada during the Second World War  

C. Population trends in postwar Canada  D. Standards of living in Canada  

Question 42: The word “five” in bold refers to  

A. Canadians   B. years   C. decades   D. marriages  

Question 43: The word “surging” in bold is closest in meaning to  

A. new   B. extra   C. accelerating   D. surprising  

Question 44: The author suggests that in Canada during the 1950's  

A. the urban population decreased rapidly  B. fewer people married  

C. economic conditions were poor    D. the birth rate was very high  

Question 45: The author mention all of the following as causes of declines in population 

growth after 1957 EXCEPT  

A. people being better educated   B. people getting married earlier  

C. better standards of living    D. couples buying houses  

Question 46: It can be inferred from the passage that before the Industrial Revolution  

A. families were larger   B. population statistics were unreliable  

C. the population grew steadily  D. economic conditions were bad  

 

Question 47: The word “it” in bold refers to  

A. horizon   B. population wave  C. nine percent  D. first half  

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest 

in meaning to each of the following questions.  

Question 48: Nobody at all came to the meeting  

A. There was almost nobody at the meeting  B. Not a single person came to the meeting  

C. Not many people came to the meeting  D. Only a few people came to the meeting  

 

Question 49: Twice as many men as women are insurance agents.  

A. More men than women have insurance.  

B. Women are twice as likely as men to have sold insurance,  

C. Insurance is twice as difficult to sell to women as to men.  
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D. Male insurance agents outnumber female agents.  

Question 50: We couldn‘t have managed our business successfully without my father‘s 

money.  

A. We could have managed our business successfully with my father‘s money.  

B. If we could manage our business successfully, my father would give us his money.  

C. If we couldn‘t have managed our business successfully, we would have had my father‘s  

money.  

D. Hadn‘t it been for my father‘s money, We couldn‘t have managed our business 

successfully 

 

 

ĐÁP ÁN VÀ GIẢI THÍCH CHI TIẾT 

 

Question 1:A 

Từ “malaria” có âm “a” phát âm là /ə/ 

Các từ còn lại có âm “a” phát âm là /æ/ 

Question 2:D  

❖ Blamed /bleimd / (v) (bị đổ tội, đổ lỗi)  

❖ Dissolved /dɪ'zə: t / (v) (hoà tan; làm tan ra, phân hủy)  

❖ Misused / 'mis'ju: zd / (v) (dùng sai, lạm dụng)  

❖ Increased /'inkri: st / (v) (tăng lên, tăng thêm, lớn them)  

Ta thấy các đáp án A, B, C đều có từ gạch chân đọc là /d/, còn đáp án D là /t/, nên đáp án 

chính xác là D.  

Question 3:D  

Nhấn trọng âm ở âm tiết thử 2, còn lại nhấn âm thứ 1.  

❖ Furnish (n) (trang bị đồ đạc cho (phòng, nhà..))  

❖ Reason (n) (lẽ phải, lý, sự vừa phải, lí do)  

❖ Promise (v, n) (hứa hẹn, lời hứa)  

❖ Tonight (n) (đêm nay, tối nay)  
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Question 4: C  

Nhấn trọng âm ở âm tiết thứ 2, còn lại nhấn âm thử 1  

❖ Habitable (adj) (có thể ở được)  

❖ Infamously (ađv) (ô nhục, bi ổi)  

❖ Geneticist (n) (nhà nghiên cứu về di truyền học, nhà di truyền học)  

❖ Communism (n) (người cộng sản)  

Question 5: A  

Tạm dịch: Tôi đưa cho anh phục vụ một tờ 50 đô la và chờ tiền thừa trả lại.  

Chú ý note ở đây không phải là ghi chú hay ghi chú mà là tờ tiền giẫy.  

❖ Change (n) (đổi tiền)  

❖ Supply (n) (cung cấp)  

❖ Cash (n) (tiền mặt)  

❖ Cost (n) (trị giá)  

❖ Wait for my change: Đợi tiền trả lại.  

Đáp án A là phù hợp nhất.  

Question 6: B  

Tạm dịch: Mọi người thường trở nên rẩt nóng tính khi họ bị tẳc đường lâu.  

❖ Bad-tempered (nổi nóng, nóng tỉnh, cảu bẳn).  

❖ Stressful (xì trét, áp lực)  

❖ Nervous (sợ hãi, lo lẳng, bồn chồn)  

❖ Pressed (áp lực, bị đè nặng)  

Question 7: B  

Tạm dịch: Tôi nghĩ rằng quan tòa nên tách biệt với chính phủ.  

❖ Independent: độc lập khỏi/ tách ra khỏi đi với giới từ from: độc lập, tách biệt khôi ai/cái 

gì  

Question 8: C  

Tạm dịch: Vị nghị sỹ hỏi thủ tướng có biết được những vấn đề xã hội đang gia tăng không  
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Đây là dạng bài chuyển từ câu trực tiếp sang gián tiếp dạng câu nghi vấn. Câu gốc hỏi thù 

tướng có biết hay không là loại Yes/No question, khi chuyển sang gián tiếp có cấu trúc như 

sau:  

S + asked/wanted to know if/whether...  

Vậy đáp án C là phù hợp nhất.  

Question 9: B  

❖ Exhaustion: sự kiệt sức  

❖ Exhausted: cảm thấy kiệt sức  

❖ Exhausting: việc gì làm ai kiệt sức  

❖ Exhaustive: đầy đủ, chi tiết  

Tạm dịch: Mặc dù David cảm thấy kiệt sức sau một ngày làm việc ở văn phòng, anh ấy đã 

cố gắng giúp vợ làm việc nhà.  

Question 10: A  

Tạm dịch: Tôi nghĩ là có một bức ảnh khách sạn ở trang đầu tiên.  

❖ On the first page: ở trang đầu tiên.  

Trang báo là bề mặt, đối với các bề mặt ta dùng giới từ “on”.  

bất kỳ cái gì dể tán công vào ngán hàng. " J 

Question 11: D 

Kiến thức về thành ngữ : Để miêu tả một người không có / thiếu kinh nghiệm người ta dùng 

tính từ “ green “ 

Question 12: A  

Kiến thức về cụm từ cố định :  

to make a go of it: cố gắng và thành công trong việc gì 

Tạm dịch: Dù điều kiện không lý tưởng cho việc đi bộ, chúng tôi quyết định vẫn cố gắng và 

thành công 

Question 13: D 

Kiến thức về cụm từ cố định 

Achieve one’s goals: đạt được mục tiêu 

Dịch nghĩa: Để mà đạt được mục tiêu của mình ở trường đại học, sinh viên cần đầu tư tối đa 

thời gian, tiền bạc và nhiệt huyết vào việc học tập của mình. 
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Question 14: B 

Kiến thức về từ vựng 

A. reckon: cho là, đoán  

B. recognize: nhận ra (ai/cái gì) 

C. acknowledge: thừa nhận 

D. realize: nhận ra (điều gì) 

Dịch nghĩa: Cô ấy đã thay đổi nhiều tới mức tôi không còn nhận ra cô ấy ngay được nữa 

Question 15: A 

Kiến thức về cụm từ cố định 

A. commit a crime (v): phạm tội 

Dịch nghĩa: Donal Trump đã đề xuất rằng ông có thể cấp tư cách pháp nhân cho hàng triệu 

người nhập cư không có giấy tờ, những người chưa phạm tội nghiêm trọng đó có thể là một 

sự thay đổi chính sách lớn. 

Question 16: D 

Kiến thức về từ loại 

A. free (a/v) B. freely (adv) C. freedom (n) 

Cấu trúc: free sb from st: giải phóng ai khỏi cái gì 

Sau have + V (p2) -> thì hiện tại hoàn thành 

Dịch nghĩa: Biện pháp kiểm soát sinh đã giải phóng phụ nữ khỏi vòng luẩn quẩn của việc 

sinh con và nuôi con 

Question 17: A 

Kiến thức về liên từ 

A. yet: ấy vậy mà, tuy vậy B. unless: trừ khi 

C. despite: mặc dù D. where: nơi/ ở đâu 

Dịch nghĩa: Việc sử dụng máy tính hỗ trợ trong việc dạy học, tuy nhiên vai trò của giáo viên 

vẫn rất quan trọng 

Question 18: A 

Kiến thức về cụm động từ 

+ drop out: bỏ cuộc 

+ close down: đóng cửa, phá sản 
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+ break up: phân tán, chia tay 

+ make up: trang điểm/bịa chuyện/làm hòa 

Dịch nghĩa: Cô ấy chạy marathon tuần trước nhưng cô ấy bỏ cuộc sau 10km 

Question 19: B 

Kiến thức về cấu trúc ngữ pháp 

Cấu trúc: a huge amount of + N(không đếm được) + V(số ít) -> loại ý A 

- loại ý C vì khi sử dụng mệnh đề quan hệ phải có hai động từ chia theo thì của câu 

- loại ý D vì reach là nội động từ nên không có dạng bị động 

Question 20: C 

Kiến thức về cụm từ cố định 

An extended family: một gia đình nhiều thế hệ 

A nuclear family: gia đình gồm 2 thế hệ 

Dịch nghĩa: Ở Trung Quốc, vẫn tồn tại rất nhiêu gia đình nhiều thế hệ sống chung dưới một 

mái nhà. 

Question 21: A  

Đổi such → such as  

Tạm dịch: cấy ghép nội tạng ví dụ như tim và thận đã tỏ ra đơn giản hơn cấy ghép cơ.  

Để đưa ra ví dụ minh họa sử dụng such as không phải such.  

Question 22: B  

Đổi is thành are  

Tạm dịch: Trên thềm Thái Bình Dương là hàng trăm ngọn núi chóp phẳng hơn một dặm 

dưới mực nước biến.  

Hàng trăm ngọn núi là số nhiều nên động từ tobe phải để sổ nhiều.  

Question 23: C  

Đổi To hold thành Holding  

Tạm dịch: Công lý thường được nhân cách hóa như một người phụ nữ bị bịt hai mắt nắm 

giữ cán cán:  

Đây là cụm rút gọn của mệnh đề quan hệ “a blind folded woman who holds a pair of 
scales”.  

Do đó phải là holding, không phải to hold.  
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Question 24: A 

Manufacturing industry: ngành công nghiệp sản xuất 

Question 25: D 

Replacement (n): sự thay thế 

Change (n): sự thay đổi 

Exchange (n): sự trao đổi 

Automation (n): sự tự động hóa 

Dựa vào thông tin vế trước “…have replaced machine operators with computers”, ta chọn 

“automation” đề phù hợp ngữ cảnh 

Question 26:  B 

Employer (n): chủ 

Employee (n): người làm 

Labor (n): tầng lớp lao động 

Server (n): người hầu bàn 

Dịch: Việc tự động hóa trong sản xuất dẫn đến sự giảm hụt trong số lượng trong các công ty 

→ Chọn “employees” để phù hợp nghĩa 

Question 27: C 

Work with = làm việc với 

To be familiar with = quen thuộc với 

Compete with = cạnh tranh với 

To be fed up with = chán 

→ Chọn “competeing” phù hợp với ngữ cảnh nhất 

Question 28: B 
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Thing (n): những thứ 

Product (n): sản phẩm, sản vật 

Produce (n): sản phẩm, sản vật 

Import (n): hàng nhập khẩu 

→ cả đáp án B và C đều phù hợp nghĩa, nhưng ta cần một danh từ số nhiều → chọn đáp án 

B 

Question 29: C 

Known as = được biết đến là 

Question 30: A 

Cụm từ: to be dependent on something = phụ thuộc vào cái gì 

Các từ khác: 

Reliable (adj): chắc chắn, đáng tin cậy 

Dependable (adj): có thể tin được 

Command (v): ra lệnh 

Question 31: B 

Spare part: đồ thay thế phụ tùng 

Question 32; A 

Growth (n): sự phát triển, sự lớn mạnh 

Increase (n): sự tăng thêm 

Expansion (n): sự mở rộng, sự khai triển 

Extention (n): sự mở rộng, sự kéo dài ra 

→ chọn “growth” phù hợp với nghĩa nhất 

Question 33: C 
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Everyday (adj): hằng ngày 

Home (adj): (thuộc) nhà ở 

Household (adj): (thuộc) gia đình, nội trợ 

Expensive (adj): đắt đỏ 

→ chọn “household” phù hợp nhất 

Question 34: C 

Thông tin trong bài “In the world today, particular in the two most industrialized areas, North 

America and Europe…” 

→ trong các đáp án, chỉ có C đúng 

Question 35: C 

Sensitive (adj): nhạy cảm, cảm thông ~ friendly (adj): thân thiện 

Các từ khác: 

Cautious (adj): thận trọng 

Logical (adj): hợp lí 

Responding (V-ing): phản ứng lại, đáp lại 

Question 36: C 

Motto (n): khẩu hiệu ~ belief 

Các từ còn lại: 

Meaning (n): ý nghĩa 

Value (n): giá trị 

Reference (n): sự nhắc đến, sự liên quan 

Question 37: B 
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Thông tin được nhắc đến trong bài “When low-quality appliances break, many customers 

throw them away and buy new ones – a loss of more resources and more energy” 

→ chỉ có đáp án B được đề cập đến 

Question 38: A 

Chủ đề của đoạn văn được nêu ngay trong phần mở bài “In the world today, particular in the 

two most industrialized areas, North America and Europe, recycling is the big news. People 

are talking about it, practicing it, and discovering new ways to be sensitive to the 

environment”. Ngoài ra bài văn đề cập đến các bước để giảm, sử dụng lại và tái chế rác thải 

→ đáp án A bao quát nhất và đúng nhất 

Question 39: D 

Cả ba đáp án A, B, C đều được đề cập trong bài là cách để giảm rác thải 

Thông tin trong bài “A hamburger from a fast food restaurant comes in lots of packaging: 

usually paper, a box and a bag. All that packaging is wasted resources” → đáp án D không 

phải là cách để giảm rác thải 

Question 40: C 

Thông tin trong bài “After customers empty the bottles, they return them to the stores. The 

manufacturers of the drinks collect bottles, wash them, and then fill them again” 

→ quy trình tái sử dụng chai lọ sẽ là: đưa trở lại cửa hàng, thu gom chai, rửa chúng, và rồi đỗ 

đầy chúng trở lại → đáp án C đúng quy trình 

Question 41: C  

Ta làm câu hỏi sau khi đã hoàn thành các câu hỏi khác.  

Key words: mainly discuss  

Câu hỏi: Bài vãn chủ yếu bàn luận vấn đề gì?  

Clue: the Kinetoscope... was designed for use ỉn Kinetoscope parlors, or arcades, which 

contained only a few individual machines and permitted only one customer to view a short... 

at any one time... customers moved from machine to machine to watch five different films 

(or, in the case of famous prizefights, successive rounds of a single fight): Thiết bị 

Kinestiscope... được thiết kế để sử dụng trong phòng chiếu Kinestiscope chứa được chỉ vài 

máy và cho phép chi một khách hàng xem một bộ phim ngẳn... một lần... các khách hàng dì 



 GV:  Nguyễn Quỳnh Trang 
   Facebook: 

www.facebook.com/lopcoquynhtrang 

 

 

 16 Để học offline với cô Trang gọi: 0942323701 
 

chuyển từ máy này sang máy khác để lần lượt xem toàn bộ phim khác nhau (hoặc, khi xem 

các giải đẩu quyền anh, hoặc các trận đẩu đơn hay liên tiếp)  

Phân tích: Đoạn văn có nhắc đến việc mỗi một khán giả xem một bộ phim, khách hàng có 

thể xem hết phim này đển phim khác và các bộ phim thì rất ngắn. Tranh giải đấu quyền anh 

dược nhắc đến là một chủ đề của phim nhưng không được đề cập đến là bộ phim phổ biển 

nhất. Vậy chọn đáp án C.Population trends in postwar Canada: Những xu hướng phổ biến ở 

Canada sau chiến tranh  

Các đáp án khác đều có thông tin trong đoạn:  

A: Eucational changes in Canadian society: Thay đồi giáo dục trong xã hội Canada  

B: Canada during the Second World War: Đất nước Canada trong Thể Chiến thứ II  

C: Population trends in postwar Canada: Những xu hướng phổ biến ở Canada sau chiển tranh  

D: Standards of living in Canada: Mức sống ờ Canada  

Question 42: A  

Key words: five, refer to  

Câu hỏi: từ “five" in đậm trong đoạn văn đề cập đến gỉ?  

Clue: “Basic to any understanding of Canada in the 20 years after flic Second World War is 

the country‘s impressive population growth. For every three Canadians in 1945, there were 

over five in 1966”: Lẽ cơ bản về Canada 20 năm sau Thế chiến thứ hai là sự gia tăng dân số 

ẩn tượng của đất nước này. Cứ mỗi ba người Canada vào năm 1945 thì có năm người vào 

năm 1966.  

Do đó, chọn đáp án A. Canadians: người Canada. Các đáp án khác không phù hợp:  

❖ Years: các năm  

❖ Decadcs: các thập kỳ  

❖ Marriages: các cuộc hôn nhân  

Như vậy, đáp án B là đáp án đúng nhất.  

Question 43: C  

Key words: surging, meaning  

Câu hỏi: Từ “surging” in đậm gần nghĩa nhất với từ nào?  

Clue: “In September 1966 Canada‘s population passed the 20 million mark. Most of this 

surging growth came from natural increase”: Vào năm 1966, dân số của Canada đã vượt mốc 

20 triệu người. Phần lớn của làn sóng gia tăng này là gia tăng tự nhiên.  

Phân tích: “Surging” là trào lên, dâng ỉên như một làn sóng, ám chỉ sự gia tăng rất nhanh. 

Vậy chọn đáp án C. accelerating: nhanh chóng. Các đáp án khác không phù hợp.  
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(“Surging” in bold is closest in meaning to ...)  

❖ New (mới) Extra (thêm mới)  

❖ Surprising (đáng ngạc nhiên)  

Question 44: D  

Keywords: Canada, 1950‘s  

Câu hỏi: Tác giả cho rằng Canada trong những năm 1950 như thế nào?  

Clue: ―The baby boom continued through the decade of the 1950s, producing a population 

increase of nearly fifteen percent in the five years from 1951 to 1956... Undoubtedly, the good 

economic conditions of the 1950s supported a growth in the population‖: Thể hệ sinh ra sau 

Thế chiến thứ hai tiếp tục tăng cuối những thập kỷ của những năm 1950, sản sinh ra lượng 

dân số tăng gần 15% trong vòng 5 năm từ 1951 đến 1956... Không nghi ngờ răng, điều kiện 

kinh tế thuận lợi của những năm 1950 đã hỗ trợ cho sự gia tăng trong dân so.  

Phân tích: Các con so là keywords thuộc về những năm 1950 đều được gắn liền với chi tiết 

gia tăng dân số. Vậy chọn đáp án D. the birth rate was very high: tỉ lệ sinh rất cao. Các đáp 

án khác không phù hợp:  

A: The urban population decreased rapidly: dân số thành thị giảm nhanh chồng - Không có 

thông tin  

B: Fewer people married: it người kết hôn hơn - Đây là chi tiết thuộc về năm 1930 khi 

“The depression of the 1930s and the war had held back marriages”: Cuộc khủng hoàng 

những năm 1930 và cuộc chiền tranh đã ngăn cản hôn nhân  

C: Economic conditions were poor: các điều kiện kinh tể nghèo nàn - Sau những năm 1950 

có điều kiện kinh tế tốt  

Như vậy, đáp án D là đáp án hợp lý nhất.  

Question 45: B  

Key words: causes of declines in population growth, after 1957, EXCEPT  

Câu hỏi: Tác giả đề cập tới tất cả những điều sau đều là nguyên nhân của sự giảm gia tăng 

dân số sau năm 1957 NGOẠI TRỪ?  

Clue: “....this decline... was also caused by changes in Canadian society. Young people 

were staying at school longer, more women were working; young married couples were 

buying automobiles or houses before star ting families; rising living standards were cutting 

down the size, of families‖: Những người trẻ tuổi học cao hơn, nhiều phụ nữ đi làm hơn; các 

cặp đôi đã kết hôn đang tiết kiệm mua xe và nhà trước khi sinh con; mức sổng tăng cao đang 

cắt giảm quy mô các gia đình.  

Phân tích: Tất cả các đáp án A, C, D đều xuất hiện trong clue. Đáp án B. People getting 

married earlier: con ngirời kết hôn sớm hơn Không có thông tin.  
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A: People being better educated: con người được giáo dục tốt hơn  

B: People getting married earlier: con người kết hôn sớm hơn  

C: Better standards of living: mức sống tốt hơn  

D: Couples buying houses: các cặp đôi mua nhà  

Question 46: A  

Key words: inferred, before the Industrial Revolution  

Câu hỏi: Có thể suy đoán điều gì từ đoạn văn về thời điêm trước khi xảy ra Cách mạng 

Công nghiệp?  

Clue: It appeared that Canada was once more falling in step with the trend toward smaller 

families that had occurred all through the Western world since the time of the Industrial 

Revolution‖: Có vẻ như Canada lại một lần nữa rơi vào xu hướng gia đình nhỏ hơn, xu hướng 

đã từng xảy ra khắp phương Tây từ cuộc Cách mạng Công nghiệp.  

Phân tích: Sau cuộc Cách mạng Công nghiệp gia đình có xu hướng nhỏ đi. Vậy trước đó các 

gia đình có quy mô lớn hơn. Vậy có thể suy luận về thời điểm trước cuộc Cách mạng Công 

nghiệp là các gia đình khi đó lớn hơn. Ta chọn đáp án A. families were larger: những gia đình 

đông hơn.Scanned by CamScanner  

Các đáp án khác không có thông tin.  

B: Population statistics were unreliable: thống kê dân số không đáng tin cậy  

C: The population grew steadily: dân số tăng đều đặn  

D: Economic conditions were bad: điều kiện kỉnh tế tồi tệ.  

Question 47: B.  

Keywords: it, refer to  

Câu hỏi: Từ “it” in đậm trong đoạn văn đề cập đến gì?  

Clue: “Although the growth in Canada‘s population had slowed down by 1966... another 

large population wave was coming over the horizon. It would be composed of the children...”: 

Mặc dù gia tâng dân số tại Canada đã giảm xuống vào năm 1966. . . một làn sóng dân số 

khác dự tinh sắp xuất hiện. Nó có thành phần là các trẻ em. .  

Phân tích: Ta phải xét xem từ nào có thể đứng làm chủ ngữ và đi được với “be composed 

of”. Xét các đáp án:  

❖ Horizon: đường chân trời: đường chân trời có thành phần là các trẻ em: Không hợp lý - 

Loại  

❖ Population wave: làn sóng dân số: làn sóng dân sổ có thành phần là trẻ em: Hợp lý.- Chọn  
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❖ Nine percent: chín phần trăm: Chín phần trăm có thành phần là trè em: Không hợp lý - 

Loại  

❖ First half: nửa đầu: nửa đầu có thành phần là trẻ em: Không hợp lý. - Loại  

Question 48: B  

“nobody at all” được viết lại bằng “not a single person”  

Question 49: D  

“Sổ đàn ông làm bảo hiểm nhiều gấp đôi phụ nữ” 

Viết lại câu bằng cách sử dụng “outnumber” : đông hơn.  

Question 50: D  

Câu đề bài là l dạng câu điều kiện loại 3 , thay mệnh đề if bằng cụm “without + danh từ” , do 

đó viết lại câu bằng cách sử dụng đảo ngữ trong câu điều kiện loại 3 , không dùng if , dùng 

cấu trúc Hadn‘t it been for my father‘s money ...  
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